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Ay )E 3 |[FdE = HEHIZEE L
(FEHI) 0.600 m3 = 0.600
-7- T A KGE R




T T & 2 %+ B & (8 & % )
HEtEEEES . 10000800
| ITEEE | 13 | IHEEH |ZSHABO = | o1 | WL—FE% [ABEEHEAEO
[EE] EHEEEEE A
] 1 [E = flliE X B2 X (ETER + AREE + AWER + MALER)
0.870 m3 = 1.500 * 0.290 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.530 m3 = 1.500 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 MR = WHIE X A X (ETER + RIER + AREE + MELER)
0.600 m3 = 1.500 * 0.200 * (2.000 + 0.000 + 0.000 + 0.000)
M I 1 [BE = wlE X (ETHER + AREE + AWER + MEALER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
BAZE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
1.530 m3 = 1.500 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)

0.600 m3 = 1.500 * 0.200 * (2.000 + 0.000 + 0.000 + 0.000)
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] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.950 m3 = 1.500 * 0.650 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 MR = WHIE X A X (ETER + RIER + AREE + MELER)
0.780 m3 = 1.500 * 0.260 * (2.000 + 0.000 + 0.000 + 0.000)
M I 1 [BE = wlE X (ETHER + AREE + AWER + MEALER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
BAZE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
1.950 m3 = 1.500 * 0.650 * (2.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)

0.780 m3 = 1.500 * 0.260 * (2.000 + 0.000 + 0.000 + 0.000)
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